$$\frac{\text{MATH 2010E TUTO 5}}{\text{Def. (Partial Perivatives)}}$$

$$\frac{\text{Let } f: \Omega \subseteq \mathbb{R}^n \to \mathbb{R}, \Omega \text{ open}$$

$$\text{Let } \vec{x} \in \Omega$$

$$\text{For } 1 \leq i \leq n, \text{ the } i\text{-th } partial \text{ derivative of } f \text{ at } \vec{x}$$

$$\text{is defined as}$$

$$f_{x_i}(\vec{x}) = \frac{\partial f}{\partial x_i}(\vec{x}) = \lim_{h \to 0} \frac{f(x_{i,\dots,x_h} \times i + h,\dots,x_h) - f(x_{i,\dots,x_h})}{h}$$

$$\frac{f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h} = \lim_{h \to 0} \frac{f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h}$$

$$\frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h} = \lim_{h \to 0} \frac{f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h}$$

$$\frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h} = \lim_{h \to 0} \frac{\partial f}{h}$$

$$\frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h} = \lim_{h \to 0} \frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h}$$

$$\frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h} = \lim_{h \to 0} \frac{\partial f(\vec{x} + h\hat{e}_i) - f(\vec{x})}{h}$$

For 
$$\gamma \neq 0$$
,  $f_{\chi}(0, \gamma) = \lim_{h \to 0} \frac{f(0+h, \gamma) - f(0, \gamma)}{h}$   

$$= \lim_{h \to 0} \frac{g(h(hy) - 1)}{h}$$

$$= \lim_{h \to 0} \frac{f(h(hy) - hy)}{h}$$

$$= \lim_{h \to 0} \frac{f(h(hy) - hy)}{h^{\gamma}} \left(\frac{0}{0}\right)$$

$$= \lim_{h \to 0} \frac{g(h(hy) - hy)}{h^{\gamma}} \left(\frac{1}{0}\right)$$

$$= \lim_{h \to 0} \frac{g(h(hy) - hy)}{g(h(hy) - hy)} \left(\frac{1}{0}\right)$$

$$= \lim_{h \to 0} \frac{g(h(hy) - hy)}{g(h(hy) - hy)}$$

$$= \lim_{h \to 0} \frac{g(h(hy) - hy)}{g(h(hy) - hy)}$$

$$= \lim_{h \to 0} \frac{g(h(hy) - hy)}{g(h(hy) - hy)}$$

Hence 
$$f_{x}(x,y) = \begin{cases} \frac{xy\cos(xy) - \sin(xy)}{x^{2}y} & \text{if } xy \neq 0 \\ 0 & \text{if } xy = 0 \end{cases}$$

b) At 
$$(x,y)$$
 there  $x,y \neq 0$ ,  

$$f_{xy} = \frac{\partial}{\partial \gamma} \left( -\frac{xy}{x} \frac{c_0}{(x,y)} - \frac{g_{1k}(x,y)}{x^3y} \right)$$

$$= \left( -\frac{x}{x^3} \frac{g_{1k}(x,y) + x \frac{c_0}{(x,y)} - x \frac{c_0}{(x,y)} \right) \cdot y - \left( \frac{x}{y} \frac{c_0}{(x,y)} - \frac{g_1}{(x,y)} \right) \cdot 1$$

$$= -\frac{x}{y^3} \frac{g_{1k}}{g_{1k}} \frac{g_{1k}(x,y) - x \frac{g_1}{(x,y)} + \frac{g_{1k}(x,y)}{y}}{x^3y^2}$$

$$= -\frac{x}{y^3} \frac{g_{1k}}{g_{1k}} \frac{g_{1k}(x,y) - x \frac{g_1}{(x,y)} + \frac{g_{1k}(x,y)}{y}}{x^3y^2}$$

$$xy = 0 \iff \left( 0, y \right) \quad or \quad (x, o) \quad x \neq 0$$

$$f_{xy}(o, y) = \left| \lim_{k \to 0} \frac{f_{x}(o, y+k) - f_{x}(o, y)}{k} \right| = \left| \lim_{k \to 0} \frac{0 - o}{k} \right| = 0$$
For  $x \neq 0$ ,  $f_{xy}(x, 0) = \lim_{k \to 0} \frac{f_{x}(x, k) - f_{x}(x, 0)}{k}$ 

$$= \lim_{k \to 0} \frac{xk \frac{c_0(x)}{x^3k}}{x^3k} - 0$$

$$= \lim_{k \to 0} \frac{x^3 \frac{c_0(x)}{x^3k}} - \frac{1}{x^3k} \frac{c_0(x)}{x^3k} - \frac{1}{x^3k} - \frac{1}{x^3k} \frac{c_0(x)}{x^3k} - \frac{1}{x^3k} - \frac{1}{x^3k$$



Det (Differentiable Functions)  
Let 
$$\Omega \subseteq \mathbb{R}^n$$
 be an open set. Let  $\overline{a} = (a_1, ..., a_n) \in \Omega$   
A fen  $f : \Omega \longrightarrow \mathbb{R}$  is said to be differentiable at  $\overline{a}$   
if  $0$   $f_{x_1}(\overline{a}), ..., f_{x_n}(\overline{a})$  all exist  
2) The affine approx. L of f at  $\overline{a}$ :  
 $L(\overline{x}) := f(\overline{x}) + \sum_{i=1}^{n} f_{x_i}(\overline{a})(x_1 - a_i)$   
Satisfies  $\lim_{x \to \infty} \frac{f(\overline{x}) - L(\overline{x})}{1 \times x - \overline{a}} = O$   
 $x \to \overline{x} \quad \| \overline{x} - \overline{a} \|$   
 $error of approx.  $\mathcal{E}(\overline{x})$ .  
 $L(\overline{x}) = f(\overline{a}) + \nabla f(\overline{a}) \cdot (\overline{x} - \overline{a})$   
 $ihere  $\nabla f := (\frac{2}{2}f_1, ..., \frac{2}{2}f_n)$   
 $is the gradient of f.$   
Then If  $f(\overline{x})$  is differentiable at  $\overline{a}$ .$$ 

Ex 2 Show that 
$$f(x,y) = |x y|$$
 is differentiable at the origin.  
Ans:  $f_x(o, o) = \lim_{h \to 0} \frac{f(h, o) - f(o, o)}{h}$   
 $= \lim_{h \to 0} \frac{O - O}{h}$   
 $= 0$   
Similarly,  $f_y(o, o) = 0$   
Let  $L(x,y) = f(o, o) + f_x(o, o)(x - o) + f_y(o, o)(y - o)$   
 $= 0 + O \cdot (x - o) + o \cdot (y - o)$   
 $= 0 + O \cdot (x - o) + o \cdot (y - o)$   
 $= 0$ .  
Now  $f(x,y) - L(x,y) = \frac{|x y|}{|x x + y|} = \frac{|x|}{|x + y|} |y|$   
 $\int_{0}^{\infty} f(x,y) \neq (o, o)$   
 $= 0, \quad (x,y) = (x,y) = \frac{1}{|x + y|} = \frac{|x|}{|x + y|} |y|$   
 $\int_{0}^{\infty} f(x,y) \neq (o, o)$   
 $= 0, \quad (x,y) = (x,y) = 0.$   
Hence  $f(x,y) = |x y|$  is differentiable at  $to, x$  =

For each of the following functions, determine if:  
(ii) the function is differentiable at the origin.  
(a)
$$g(x,y) = \sqrt{x^4y^2 + y^4}$$

$$\frac{1}{1}$$

(b)

 $h(x,y) = \sqrt{x^2 + y^4}$ 

 $AW! h_{x}(0,0) = \lim_{x \to 0} \frac{h(x,0) - h(0,0)}{x} = \lim_{x \to 0} \frac{5x^{-1}}{x}$ Note that  $\lim_{x \to 0^{+}} \frac{h(x, 0) - h(0, 0)}{x} = \lim_{x \to 0^{+}} \frac{5k^{2}}{x} = \lim_{x \to 0^{+}} (-1)$ while  $\frac{|i_{n} h(x, 0) - h(0, 0)|}{x - 0^{-1}} = \frac{|i_{n} \frac{5x^{2}}{x}|}{x - 0^{-1}} = \frac{|i_{n} - 1|}{x} = -1$ Hence hx (0,0) DNE. In particulars h is had didd. at (0,0)

(c)

$$f(x,y) = \begin{cases} \frac{x}{x+y} & \text{if } x+y \neq 0, \\ 0 & \text{if } x+y = 0. \end{cases}$$



$$\begin{array}{c} \text{Thm.} \quad \text{Let} \quad f, g : \Omega \subseteq \mathbb{R}^{n} \longrightarrow \mathbb{R} \quad \text{be differentiable at } \tilde{a} \in \Omega \\ \qquad \text{Then if } f \pm g \ , c.f \ , f \cdot g \ are \ diff. at \\ a \ 2) \quad f/g \ is \ diff. at \\ \tilde{a} \ if \ g(\tilde{a}) + 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff \ at \\ \tilde{a} \ \vdots \ f(\tilde{a}) + 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \\ \tilde{a} \ \vdots \ f(\tilde{a}) + 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \\ \tilde{a} \ \vdots \ f(\tilde{a}) + 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \\ \tilde{a} \ (\tilde{a}) + 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \\ \tilde{a} \ (\tilde{a}) - 0 \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ . \end{array}$$

$$\begin{array}{c} \text{Pf:} \quad \text{Since} \quad f, g \ are \ diff. \ at \ \tilde{a} \ f(\tilde{a}) \ f(\tilde{a})$$